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SN A
Hu: FEiA 9 2
tel: =8 2 Z20E FHdl (St HS)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
201 Zer2d| 33,800 23,800 10,000
01 AtR2t2lHl 33,800 23,800 10,000
Oz DAl Baag
100,000 x4 H =23 800
OZ4ohthyl 2 E=Y ZHl YRE S
10,000,000 10,000
OL2E Folgls ATEY Byl YN2 S
20,000,002 20,000
OZHBIS o4 2E(27) 7Y
1,000,000& 1,000
S |A 2+ 2,000,000& 2,000
202 04| 2,400 1,220 1,180
01 SLHoAHI 2,400 1,220 1,180
SHIISHS 2,400,000& 2,400
SXHAAILE &X 300,000 0 300,000
401 AlEHIZ S0 300,000 300,000
01 Al&ZHI 300,000 300,000
OFRANAILE EXI(2H2)
300,000,000& 300,000
a2 FEE-2eIAY JIBAIE X 6,250,000 0 6,250,000
= 3,750,000
== 1,250,000
Al 1,250,000
401 Al HIZL 00 6,250,000 0 6,250,000
[ 3,750,000
= 1,250,000
Al 1,250,000
01 AlHI 6,249,000 0 6,249,000
OARE FEAHIZCIXA J|BAIE (S
2 FiE) &8 6,249,000,000& 6,249,000
= 3,750,000
[ 1,250,000
Al 1,249,000
03 Al R HHI 1,000 0 1,000
OARE FEAHI2CIXS JIBAIL (S
2 FRE) =4 1,000,000& 1,000
ES pSial 390,000 400,000 10,000
= 90,000
Al 300,000
Solsdl ZAIo2 390,000 400,000 10,000
= 90,000
Al 300,000
401 AIEHIX S0 390,000 400,000 10,000
== 90,000




A A=
HE: Zeids 9 2
el I EI EERED
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
Al 300,000
01 Al&HI 390,000 400,000 10,000
L2ISUl TAIDIZ EH]
390,000,000& 390,000
T 90,000
Al 300,000
STz 223 XA 236,600 123,000 113,600
= 55,800
Al 180,800
LE S5 S22 N3 226,600 72,000 154,600
= 52,800
Al 173,800
201 et AL| 600 600
01 AtR2telH| 600 600
OZSFe XA Aolgs| Barg
100,000 *3H x23 600
402 BIZHR=01 N 226,000 72,000 154,000
L= 52,800
Al 173,200
02 QIZEXH2AI 2 = (0| & &) 226,000 72,000 154,000
OLsZEF RNz X
226,000,000& 226,000
= 52,800
Al 173,200
OHIIE ZH|, EA =8k FHAIE e X 10,000 0 10,000
T 3,000
Al 7,000
402 QI2EX=0I N 10,000 0 10,000
= 3,000
Al 7,000
02 QIZEXH2 A E X (0| &TH ) 10,000 0 10,000
OOHIIEERY] , HALSTH SHAEINA (2N
&) 10,000,000 10,000
T 3,000
Al 7,000
7oA A A 17,000 0 17,000
7HAE AL FHIAMY 17,000 0 17,000
401 AIEBIZ 01| 17,000 0 17,000
01 Al&Hl 17,000 0 17,000
OEXHbl 15,240,000 15,240
OA=E 8 =2l 1,110,000& 1,110
O&ERX ZEEIHI 650,000& 650
HYy2IZH|(H=) 28,200 29,400 1,200




2N 2
KIXH: SH
(=2}

|

g2l Jl=gul(A=n
S - BRA(30) - NRAR - BER of e e
JlEddl(A=1) 28,200 29,400
JlE2ZH(A=1) 28,200 29,400
201 EH=2EH| 17,600 17,600
01 AFR2t2lHl 17,600 17,600
FASSAIR22l] 17,600,000& 17,600
202 04| 7,000 7,000
01 =LHOHI 7,000 7,000
OJl=gR=+=80iHI(18%) 7,000,000 7,000
203 FR =& 3,600 3,600
M EASHLR=AH 3,600 3,600
ORAN2ELRFTHI(202!015t)
300,000& x 122 3,600
HRes(A=1) 55,000 55,000 0
WEHAR = (A=) 55,000 55,000 0
sangdlls dE3 55,000 55,000 0
RISdES 55,000 55,000 0
0 JI=sdEs 55,000 55,000 0
o= g dEs

55,000,000 55,000




